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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 3rd Semester Examination, 2021-22

ECOACORO06T-EconoMICs (CC6)

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfes I 0E KNG Q"Y/VW fact FC 1
Candidates should answer in their own words AR e ©IR0F I ST XA N
and adhere to the word limit as practicable. e FEE |

All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fafeiie @-ieal #fipfs elvas Ted wiss

(a) What is sacrifice ratio?
OJICNS DA PICF 0T ¢

(b) What is structural unemployment?
TIOHNNS (TG I A0 ?

(c) What is meant by underemployment equilibrium?
il e SRRy P 6 9

(d) What is disinflation?
SRYGFIS {2

(¢) What is inflation inertia?
T oy & 7

(f) What is meant by ‘shoe-leather cost’ of inflation?
TWIFIOF ‘©-ETR T FIE 0T 9

(g) What is velocity of money?
w24 @lbeTe (9] S0 0 2

(h) What is meant by backward looking price expectation?
SRSTewH| Zfei*it IECe fF @Il 2

2. Answer any four questions from the following: 5x4 =20
T @-ieal 5o @eie Ted mies

(a) Do you think that unexpected inflation hurts more than expected inflation? Give
reasons.

Sefeyie JUrEfs & eropif¥e Juirifon gem @ @rame » ez T S
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(b) How Phillips curve can be derived from the Aggregate Supply curve of the
economy?

FAET @A @R (R eI fefer=is @l fozhote w41 T 9

(c) Distinguish between the effect of an unanticipated and an anticipated rise in
money supply under rational expectations.

eI T I @SN ST 8 S Ifaa 2iee ot e

(d) Distinguish between Adaptive and Rational Expectations.

wfetifere eropi ¢ &M eropmia S AL Aol e |

(e) How will you derive short-run aggregate supply curve with the help of sticky-
wage model?

-G NG HRIC TSI @AM @1 (& T IR S B |
(f) What is “policy ineffectiveness”? Explain.

‘o7 SRR T@ce [ @RI G w1

3. Answer any two questions from the following: 10x2 =20
fasfrie @-ce 76 evsw Teqwie:
(a) Explain briefly how the equilibrium rate of interest is determined in the Classical 4+6

Model. Find out the effect of technological innovation on equilibrium output and
employment in the Classical System.

TR e ova 29 el fifTs =0 et s Fifelf Feiem Tafor T @ 3
CCE Teove @ f et fFeiE aeiie o1 St St

(b) What is Liquidity Trap? Critically evaluate the strength of Real Balance effect to 2+8
enable the economy to get rid of liquidity trap situation.

SRR BiW I A 9 OREE T AR @ Ifew o Reww fae ey
2SI PP TR TN |

(c) Define Phillips curve and show that short-run Phillips curve is downward sloping,
while the long run Phillips curve is vertical.

T @I Rel wie 8 A8 @, FEIE T @Al A wforrm e
LRI © To1e WFT 47 I

(d) Write short notes on the following: 5+5
frafafe Renefm Saim ke Bt @ar
(1) Classical Dichotomy

FEe feogdiv
(i) Keynes effect.

(T 2SR |

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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